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CHEMISTRY

BOOKS - MODERN PUBLICATION

GROUP 17 ELEMNTS

1. Dacron is prepared by

A. HF can be easily oxidised

B. HF cannot be easily oxidised


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JxwdpXSuY76Y

C. HF is highly poisonous

D. HF is a good conductor

Answer: A

o Watch Video Solution

2. On boiling an aqueous solution of KCIlO5 with

iodine the product formed is:

A. K104

B. KClO,

C. KlO4


https://dl.doubtnut.com/l/_JxwdpXSuY76Y
https://dl.doubtnut.com/l/_I7H8Uf03NIHz

D. KCl

Answer: A

° Watch Video Solution

3. Bromine is obtained commercially from sea water

by adding

A. Caliche

B. Carnalite

C. common salt

D. Cryolite


https://dl.doubtnut.com/l/_I7H8Uf03NIHz
https://dl.doubtnut.com/l/_8BKOdY0pDGtg

Answer: B

o Watch Video Solution

4. Which of the following anions is linear:

A. Oxygen family

B. Nitrogen family

C. Halogens

D. Alkali metals

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8BKOdY0pDGtg
https://dl.doubtnut.com/l/_FqO9yh9muBtw

5. Tincture of iodine is

A. Aqueous solution of lodine

B. Solution of I, in aqueous K1

C. Alcoholic solution of I,

D. Aqueous solution of K1

Answer: B

o Watch Video Solution

6. Chlorine is mixed with drinking water so that:


https://dl.doubtnut.com/l/_FqO9yh9muBtw
https://dl.doubtnut.com/l/_5CUoMgY3QdAp
https://dl.doubtnut.com/l/_5PpY74YRmKmo

A. bacteria are killed

B. dirt is removed

C. water is cleaned

D. suspension is removed

Answer: A

o Watch Video Solution

7. When bleaching powder is treated with carbon

dioxide

A. Chlorine is evolved


https://dl.doubtnut.com/l/_5PpY74YRmKmo
https://dl.doubtnut.com/l/_90ApSIJvaOC0

B. Calcium chloride is formed

C. No reaction occurs

D. It absorbs the gas

Answer: A

o Watch Video Solution

8. Which is the strongest reducing agent?

A HF

B. HCI

C. HBr


https://dl.doubtnut.com/l/_90ApSIJvaOC0
https://dl.doubtnut.com/l/_1aHynnn8Xfzh

D.HI

Answer: D

o Watch Video Solution

9. The standard oxidation potentials of the
electrodes

Ag|lAg™, Sn|Sn*T, Ca|Ca®*, Pb|Pb** are
—0.8, 0.136, 2.866and0.126V  respectively. The
most powerful oxidising agent among these metal

ions is :

A. Fluorine


https://dl.doubtnut.com/l/_1aHynnn8Xfzh
https://dl.doubtnut.com/l/_LirmhYFmrvHx

B. Chlorine

C. Bromine

D. lodine

Answer: A

o Watch Video Solution

10. When chlorine is passes through concentrated

solution KOH, the compound formed is:

A. KClO

B. KClO,


https://dl.doubtnut.com/l/_LirmhYFmrvHx
https://dl.doubtnut.com/l/_bHswAb51Uy3Q

c. KClO,

D. KCIO,

Answer: C

o Watch Video Solution

11. Chlorine acts as a reducing agent only in the

presence of :

A.dry air

B. sunlight

C. moisture


https://dl.doubtnut.com/l/_bHswAb51Uy3Q
https://dl.doubtnut.com/l/_7DdeXUVVseu3

D. pure oxygen

Answer: C

o Watch Video Solution

12. In a given sample of bleaching power the
percentage of available chlorine is 49 the volume of
chlorine obtained if 10g of the sample is treated

with HCl at NTP is

A. by heating PtCl,

B. by heating MnQO5 with 'HCI'


https://dl.doubtnut.com/l/_7DdeXUVVseu3
https://dl.doubtnut.com/l/_vpPzgROTIZFE

C. by treating bleaching powder with HCI

D. by heating mixture of NaCl and MnO, with

conc.H (2)SO (4)

Answer: A

o Watch Video Solution

13. Which of the following is a gas:

A. HCl acting on KMnQO,

B. HCl acting on NayO,

C. Electrolysis of brine


https://dl.doubtnut.com/l/_vpPzgROTIZFE
https://dl.doubtnut.com/l/_m6OIV99xFE2R

D. All of this

Answer: D

° Watch Video Solution

14. Bleaching powder is

A. dilute solution of Ca(OH),
B. concentrated solution of Ca(OH),
C. dry calcium oxide

D. dry slaked lime


https://dl.doubtnut.com/l/_m6OIV99xFE2R
https://dl.doubtnut.com/l/_q2iOxo5p9wRJ

Answer: D

o Watch Video Solution

15. Among halogens, which one is the strongest

oxidising agent.

A.HCIO

B. HCIO,

C. HCIO,

D. HClO,

Answer: A



https://dl.doubtnut.com/l/_q2iOxo5p9wRJ
https://dl.doubtnut.com/l/_Z0nuyBosIpfm

‘ ° Watch Video Solution

16. Among the following the pseudohalide is

A. CN”-

B. ICI

C. I,

D. IFy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0nuyBosIpfm
https://dl.doubtnut.com/l/_2fweSbMred7S
https://dl.doubtnut.com/l/_5WZvUuDyJvYd

17. Fluorine can exist in the oxidation states :

A.-1only

B.-1and +1only

C.-1,+1,+3 only

D.-1, +1, +3,+5 and +7

Answer: A

° Watch Video Solution

18. Which halogen can not form +ve ion ?

ATl


https://dl.doubtnut.com/l/_5WZvUuDyJvYd
https://dl.doubtnut.com/l/_apriQ9QYbNfi

B.IT

c.I®+

D. All

Answer: D

o Watch Video Solution

19. Fill in the blanks : Chlorine reacts with dry SO,

A. thionyl chloride

B. sulphuryl chloride


https://dl.doubtnut.com/l/_apriQ9QYbNfi
https://dl.doubtnut.com/l/_2jeWzNuxBvIe

C. sulphur dichloride

D. sulphur monochloride

Answer: B

o Watch Video Solution

20. The catalyst used in Deacon's process is:

A.Cu

B. an alloy of copper

D.CuS


https://dl.doubtnut.com/l/_2jeWzNuxBvIe
https://dl.doubtnut.com/l/_bVw84fzyP3nD

Answer: C

o Watch Video Solution

21. Bromine is prepared in the laboratory by
heating a mixture of:

A. Zn and HCI

B.C&CO;),

C. Ph(NOs),

D. MTLOQ

Answer: D



https://dl.doubtnut.com/l/_bVw84fzyP3nD
https://dl.doubtnut.com/l/_PGoDhpIDtGKJ

‘ o Watch Video Solution

22. When Chlorine is passed over dried dry slaked
lime at room temperature , the main reaction

product is :

A. CaO

B. NaOH

C. H,50,

D. HBr

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PGoDhpIDtGKJ
https://dl.doubtnut.com/l/_eYJAq9L9ap83

23. SO, reacts with chlorine to form

A. Ca(OCI),
B. Ca(OCI)Cl
C.Ca(0Cl_(3)) (2)

D. CaCl (2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eYJAq9L9ap83
https://dl.doubtnut.com/l/_xZBxZV3QbvAs

24. Tert-butylamine cannot be prepared by the

action of NHj on tert-butylbromide. Give reason.

A. Mn02

B. KMnO (4)

C. NacCl

D. K (2)Cr (2)0 (7)

Answer: C

o Watch Video Solution

25. Which reacts with chlorine to form phosgene:


https://dl.doubtnut.com/l/_KpmiRsOWamRq
https://dl.doubtnut.com/l/_3PKnUWsE4Gxt

A. SO,

B.CO,

C. 'NO'

D.CO

Answer: C

o Watch Video Solution

26. Chlorine water on cooling deposits greenish-

yellow crystals of:

A.Cly.2H,0


https://dl.doubtnut.com/l/_3PKnUWsE4Gxt
https://dl.doubtnut.com/l/_Iutxs5YHn5q3

B.Cly. HyO

C.Cly.3H50

D.Cl,.8H,0

Answer: D

o Watch Video Solution

27. Euchlorine is a mixture of

A. a mixture of Cl (2) and ClO (2)

B. a chloride of eurapium

C. a mixture of Cly and Cl,0;,


https://dl.doubtnut.com/l/_Iutxs5YHn5q3
https://dl.doubtnut.com/l/_VrLvz2uYvWLk

D. operate by heating perchlorate and conc.HCl

Answer: A

° Watch Video Solution

28. Calcium occurs in nature as:

A. PCI;

B.Cly

C. PCls

D. POCl;


https://dl.doubtnut.com/l/_VrLvz2uYvWLk
https://dl.doubtnut.com/l/_O6O5Kkd0PkF8

Answer: A

o Watch Video Solution

29. Which of the following are all disaccharides:

A BF,

B. AlF,

C.NF,

D. ClF,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_O6O5Kkd0PkF8
https://dl.doubtnut.com/l/_4IalIYdB7U3M

30. Which of the following has not a lone pair ?

A. S50,
B.NO,
C. 05

D. NO,;

Answer: B

o Watch Video Solution

31. Most stable oxide of chlorine is:


https://dl.doubtnut.com/l/_4IalIYdB7U3M
https://dl.doubtnut.com/l/_ZUqtsvN6rLCs
https://dl.doubtnut.com/l/_xbgRgnJWB9AF

A.Cl,0

B. ClO,

C.ClO;

D. Cl,0r

Answer: D

o Watch Video Solution

32. Largest size stands for:

A. CI"-

B. Br”-


https://dl.doubtnut.com/l/_xbgRgnJWB9AF
https://dl.doubtnut.com/l/_lXFSKIrRiQ5T

C.Br*+

D. Br

Answer: B

o Watch Video Solution

33. Freons are:

A.Cly Fy

B.CFCL,

C.CIF,

D. All


https://dl.doubtnut.com/l/_lXFSKIrRiQ5T
https://dl.doubtnut.com/l/_FWR8qAPYmNUn

Answer: D

o Watch Video Solution

34.The anhydride of hypochlorous acid is:

A.Clo (3)

B. ClO,

C. ClyO5

D.Cl,O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FWR8qAPYmNUn
https://dl.doubtnut.com/l/_iuJ5PNCsZ7hW

35. Which one is least soluble in water:

A. Agl

B. AgBr

C. AgCl

D. AgF

Answer: A

o Watch Video Solution

36. Hl is most in nature among halogen acids.


https://dl.doubtnut.com/l/_iuJ5PNCsZ7hW
https://dl.doubtnut.com/l/_5Zkpl14AEueW
https://dl.doubtnut.com/l/_lbZxaAWKN1mc

° Watch Video Solution

37. ___halogen is solid at room temperature.

° Watch Video Solution

38. 4NaOH(conc) + 2F; — 4NaF + 2H,0 +

o Watch Video Solution



https://dl.doubtnut.com/l/_lbZxaAWKN1mc
https://dl.doubtnut.com/l/_4LfwTY24vFZ2
https://dl.doubtnut.com/l/_Fgnrz1N0iyeF

39. In aquaregia___is responsible for dissolving

gold and platinum.

° Watch Video Solution

40. _ has highest oxidising power in halogen

family.

o Watch Video Solution

41. has highest electronegativity in halogen



https://dl.doubtnut.com/l/_0dKbDhWif9iM
https://dl.doubtnut.com/l/_Bl2bg8OgsSVj
https://dl.doubtnut.com/l/_91uxOS0SlghE

| &9 Watch Video Solution

42. XeF, + HzO —

o Watch Video Solution

43.

Cls + 2NaOH (cold&dil) — _ 4+ NaOCl + H,0

o Watch Video Solution

44, Complete the following chemical reactions:

(a) P, + NaOH + H,O —


https://dl.doubtnut.com/l/_91uxOS0SlghE
https://dl.doubtnut.com/l/_xVTJKsq0c6YZ
https://dl.doubtnut.com/l/_kfMmSdpAHC7x
https://dl.doubtnut.com/l/_AoADZJOvueGf

(b) PCls + Hy0O(excess) —

o Watch Video Solution

45. The outer electronic configuration of 15 group

° Watch Video Solution

46. Halogens are

° Watch Video Solution

47. Almost all amides exist in


https://dl.doubtnut.com/l/_AoADZJOvueGf
https://dl.doubtnut.com/l/_6ONG1WWBu8d8
https://dl.doubtnut.com/l/_YpBipbXWJdJv
https://dl.doubtnut.com/l/_bbyfOZ8OTNWb

° Watch Video Solution

48. Halogens are

° Watch Video Solution

49, Halogens are

o Watch Video Solution

50. Halogens are

o Watch Video Solution



https://dl.doubtnut.com/l/_bbyfOZ8OTNWb
https://dl.doubtnut.com/l/_NfKzICvq2qmX
https://dl.doubtnut.com/l/_T9HxEBpDI0cb
https://dl.doubtnut.com/l/_eOT7cTSdKb2B

51. I, can exist in the oxidation states

° Watch Video Solution

52.Hl is most_____in nature among halogen acids.

o Watch Video Solution



https://dl.doubtnut.com/l/_eOT7cTSdKb2B
https://dl.doubtnut.com/l/_FydVKuhGzXdV
https://dl.doubtnut.com/l/_yvasZmAREo5l

53.Find f(+/2) and f( — /3) for the function

x%,if x<0
f(x)=1x,if0<x<1

L, if x>1
[ X

o Watch Video Solution

54. H3P03 is

° Watch Video Solution



https://dl.doubtnut.com/l/_buI7vjRqdIwf
https://dl.doubtnut.com/l/_8aTg0kbYS5C1

55. 4NaOH/(conc) + 2Fy — 4NaF + 2H,0 +

o Watch Video Solution

56. Acetone is used as a and

° Watch Video Solution



https://dl.doubtnut.com/l/_g0DNJP7AwSD9
https://dl.doubtnut.com/l/_zeACVPXDwzCM

57.Find f(\/ﬁ) and f( — \/§) for the function

x%,if x<0
f(x)=1x,if0<x<1

L, if x>1
[ X

o Watch Video Solution

58. H3PO3 is

° Watch Video Solution



https://dl.doubtnut.com/l/_Wy38azP7XW9C
https://dl.doubtnut.com/l/_8ZvOZ3o1osZ0

59. Which will give a white precipitate with AgINO;

in

o Watch Video Solution

60. The halide which does not give a precipitate

with AgN Qs is:

o Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_PmsOSOyLr0Va
https://dl.doubtnut.com/l/_Az4Ye2ZdKTyS
https://dl.doubtnut.com/l/_WqvvXY6z3DTJ

62. What is the rate of reaction and the order of
reaction if the mechanism of the reaction is,
2NO + Hy, — H,05 (slow reaction),

H>,O, + H, — 2H,0 (fast reaction)

° Watch Video Solution

63. Write the electronic configuration of Xenon.

o Watch Video Solution

64. Halogens do not occur free in nature. Explain.


https://dl.doubtnut.com/l/_WqvvXY6z3DTJ
https://dl.doubtnut.com/l/_Y1ZAIRWW8pQQ
https://dl.doubtnut.com/l/_JkU9ObmORTRy
https://dl.doubtnut.com/l/_wvfpKdbP3LCo

° Watch Video Solution

65. How physical state of halogen changes with

increase in atomic number ?

o Watch Video Solution

66. Write colours of all the halogen gases.

o Watch Video Solution

67. Write the bond length of HCl.



https://dl.doubtnut.com/l/_wvfpKdbP3LCo
https://dl.doubtnut.com/l/_ZY2H6UFWs9PN
https://dl.doubtnut.com/l/_HeYqwpNuyXEx
https://dl.doubtnut.com/l/_ODbfGY0zPNrE

| o Watch Video Solution

68. HCl is weaker than HI. Explain.

o Watch Video Solution

69. Which gas is librated when Zinc reacts with

Conc. H,SO, ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ODbfGY0zPNrE
https://dl.doubtnut.com/l/_yhJ83stBcp6Y
https://dl.doubtnut.com/l/_pt6HRotaQdun

70. What happens when chlorine gas is passed

through cold solution of NaOH?

° Watch Video Solution

71. Which of the halogen forms the weakest

hydracids ?

o Watch Video Solution

72. Which halogen is solid at the room temperature

?

| e |


https://dl.doubtnut.com/l/_t99kQyegPFg3
https://dl.doubtnut.com/l/_DrpwihMmYaJy
https://dl.doubtnut.com/l/_BWRypNJy7G0b

| &9 Watch Video Solution

73.Hl is an oxidising or reducing agent ?

o Watch Video Solution

74.Fluorine is a strong oxidising agent because :

° Watch Video Solution

75. Arrange the halogen family in their decreasing

order of electronegativity.

& .


https://dl.doubtnut.com/l/_BWRypNJy7G0b
https://dl.doubtnut.com/l/_SF4U3R3I0mpC
https://dl.doubtnut.com/l/_rgBph67HrJqu
https://dl.doubtnut.com/l/_Pp7Y9VFMOQwq

| ' vvatch vidaeo >olution |

76. Write the equation for 'Cl 2 which is bubbled

through a solution of ferrous bromide.

o Watch Video Solution

77. What happens when Cl, gas is passed into

aqueous solution of KOH ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Pp7Y9VFMOQwq
https://dl.doubtnut.com/l/_lXbB0aprmVgT
https://dl.doubtnut.com/l/_9QEmGhix0MfB

78. In halogen family which element forms

strongest hydrogen bonds ?

° Watch Video Solution

79. How will you prepare Cl, from NacCl ?

o Watch Video Solution

80. Arrange PH;, H,S and HCl in order of
increasing acidic strength. Give reasons for your

answer.

| e ]


https://dl.doubtnut.com/l/_nxLjz6G0gB23
https://dl.doubtnut.com/l/_R8uo4li0mPlK
https://dl.doubtnut.com/l/_hZ2VCXdhKuN2

| &9 Watch Video Solution

81. Write two uses of potassium chlorate.

o Watch Video Solution

82. Write two uses of xenon tetrafluoride.

° Watch Video Solution

83. Why are halogen gases or volatile liquid or solid

at room temp. ?

& .


https://dl.doubtnut.com/l/_hZ2VCXdhKuN2
https://dl.doubtnut.com/l/_BowsmxorKv7m
https://dl.doubtnut.com/l/_rm0hnZAoTm2r
https://dl.doubtnut.com/l/_c7ecYmYnowlx

| ' vvatch vidaeo >olution |

84. Why do noble gases form compounds with

flourine and oxygen only ?

o Watch Video Solution

85. What is magnetic character of Fy ?

o Watch Video Solution

86. Give electronic configuration of chlorine atom.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_c7ecYmYnowlx
https://dl.doubtnut.com/l/_9SZrscicOhZX
https://dl.doubtnut.com/l/_Kw65Vh6ysaOI
https://dl.doubtnut.com/l/_XnBo8LXjZict

87. Which halogen shows only one oxidation

number in its compounds ?

° Watch Video Solution

88. Write two uses of flourine.

o Watch Video Solution

89. HF is less volatile than HCl.(True/False)

° Watch Video Solution



https://dl.doubtnut.com/l/_XnBo8LXjZict
https://dl.doubtnut.com/l/_rorV4LFytRN7
https://dl.doubtnut.com/l/_id1Gri19lZ1n
https://dl.doubtnut.com/l/_c855IfwhgWIJ

90. Write some uses of chlorine.

o Watch Video Solution

91. Melting point of NaCl is highest among NaF,

NaCl, NaBr, Nal.(True/False)

o Watch Video Solution

92. HBr is stronger acid than HI. .(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_c855IfwhgWIJ
https://dl.doubtnut.com/l/_EDw7DlIhKNLC
https://dl.doubtnut.com/l/_7tgbtQPYpwow
https://dl.doubtnut.com/l/_g1EbxrPqygkK

93. Flourine is prepared by electrolysis. What is the

liquid used and electrodes ?

° Watch Video Solution

94. Electron affinity of flourine is less than that of

chlorine Why ?

o Watch Video Solution

95. How will you convert SO, into HyS ?



https://dl.doubtnut.com/l/_g1EbxrPqygkK
https://dl.doubtnut.com/l/_vmYvoZU7C4sy
https://dl.doubtnut.com/l/_P52MqpblDjQe
https://dl.doubtnut.com/l/_JbDrtrfJGXRW

| W Watch Video Solution

96. Glass apparatus is not used for isolation and

storing of fluorine. (True/False)

o Watch Video Solution

97. Electron affinity of flourine is less than that of

chlorine Why ?

o Watch Video Solution

98. Ketones can be prepared by :


https://dl.doubtnut.com/l/_JbDrtrfJGXRW
https://dl.doubtnut.com/l/_0SNuyYpiNssP
https://dl.doubtnut.com/l/_fR0fzUoE7EAs
https://dl.doubtnut.com/l/_WeyUiWAJ7MvZ

° Watch Video Solution

99. Why HF cannot be stored in glass bottle ?

° Watch Video Solution

100. How bromine can be liberated from KBr

Solution?

o Watch Video Solution



https://dl.doubtnut.com/l/_WeyUiWAJ7MvZ
https://dl.doubtnut.com/l/_SczHvfXkToYf
https://dl.doubtnut.com/l/_v59LW6YX0obl

101. How many atoms of fluorine are there

1.9 x 10°° gms of fluroine ? (F =19 amu)

in

o Watch Video Solution

102. Which is oxidised in air?

° Watch Video Solution

103. The electronic configuration of halogen is

o Watch Video Solution



https://dl.doubtnut.com/l/_qfAIhEGlHQIb
https://dl.doubtnut.com/l/_cXCS8uzxcVhh
https://dl.doubtnut.com/l/_B4h7iWUj0kU4
https://dl.doubtnut.com/l/_JwBWorweFJWI

104. What is most electropositive halogen?

o Watch Video Solution

105. Explain what happens when HCl gas is passed

through concentrated NaCl solution?

° Watch Video Solution

106. HF is less volatile than HCI. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_JwBWorweFJWI
https://dl.doubtnut.com/l/_HsuIYGoG86tx
https://dl.doubtnut.com/l/_gai2YRSkKppN
https://dl.doubtnut.com/l/_BWK12arxNL6J

107. Discuss about the order of electron affinity of

halogen elements.

° Watch Video Solution

108. How Buna-S is synthesized ?

o Watch Video Solution

109. What happens when H505 reacts with 'C|2?

o Watch Video Solution



https://dl.doubtnut.com/l/_BWK12arxNL6J
https://dl.doubtnut.com/l/_mkrdj8C5wEdY
https://dl.doubtnut.com/l/_QDS0ddSduAcI
https://dl.doubtnut.com/l/_KRbYYw0dgV8F

110. What happens when ethanol is treatd with
conc.

H,S50, at 443 K

o Watch Video Solution

111. Write the order of increase of oxidising power

of halogens.

o Watch Video Solution

112. Explain why current carrying loop behaves as a

magnetic dipole.



https://dl.doubtnut.com/l/_KRbYYw0dgV8F
https://dl.doubtnut.com/l/_QnbPDG3Nc4bM
https://dl.doubtnut.com/l/_MFfH1bA62RTf

‘ o Watch Video Solution

113. HF is a liquid whereas HCl is a gas. Explain.

o Watch Video Solution

14. What happens when NHj is treated with

chlorine in small quantity?

o Watch Video Solution



https://dl.doubtnut.com/l/_MFfH1bA62RTf
https://dl.doubtnut.com/l/_ij7wSMcHuUc6
https://dl.doubtnut.com/l/_sJhdcknIi30K

115. Between HBr and HI which is more easily

oxidised?

o Watch Video Solution

116. molecules of:

° Watch Video Solution

17. What happens when NaCl is treated with

sulphuric acid in presence of MnQO, ?

o Watch Video Solution



https://dl.doubtnut.com/l/_P8WhhsPKpXqk
https://dl.doubtnut.com/l/_gEe0y7awWWtv
https://dl.doubtnut.com/l/_6qb5tERSrWSw

118. Arrange the following in the order of property
indicated set.
F;5, Cly, Bry, I in the increasing bond dissociation

enthalpy.

o Watch Video Solution

119. Give two examples to show the anomalous

behaviour of fluorine.

° Watch Video Solution



https://dl.doubtnut.com/l/_6qb5tERSrWSw
https://dl.doubtnut.com/l/_AT03o5kdZD2j
https://dl.doubtnut.com/l/_h0EDrg7GHUCb

120. The halogen which has highest electron gain

enthalpy is

° Watch Video Solution

121. Explain. Why fluorine exhibits an oxidation state
of -1 only, while other elements of the family exhibit

oxidation state of -1 +1, +3, +5 and +7.

o Watch Video Solution



https://dl.doubtnut.com/l/_jADOWH2upCtt
https://dl.doubtnut.com/l/_8ip1ZJw1Fe0h

122. How would you account for the following? The
electron gain enthalpy with negative sign is less for

oxygen than that of sulphur.

° Watch Video Solution

123. Why is ICI more reactive than I5?

° Watch Video Solution

124. Halogens are

° Watch Video Solution



https://dl.doubtnut.com/l/_FkvVlbciXwAX
https://dl.doubtnut.com/l/_06DZEFEpD9qY
https://dl.doubtnut.com/l/_TM0MWsUGu5jV

125. Why is the bond dissociation energy of Fj less

than that of Cl, ?

o Watch Video Solution

126. Fluorine does not show positive oxidation

states because:

o Watch Video Solution

127. What happens when FeCl; is added to NaOH

solution?


https://dl.doubtnut.com/l/_TM0MWsUGu5jV
https://dl.doubtnut.com/l/_0xqZHGsACV0s
https://dl.doubtnut.com/l/_10Ulj9jvnS2e
https://dl.doubtnut.com/l/_PfsKXaOzmD8c

° Watch Video Solution

128. Which among the following has highest

electrical conductivty ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PfsKXaOzmD8c
https://dl.doubtnut.com/l/_gUfjeILCwKf7

